	М – 6






В – 1

Деление

1. Выполните деление: – 18 : (– 0,3)

а) 60

б) 54

в) – 6
2. Выполните деление: 
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а) – 2

б) 
[image: image2.wmf]2

1

-



в) 
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3. Решите уравнение: х ( (– 3,45) = 5,865

а) – 0,17
б) – 1,7
в) 0,17
4. Найдите значение выражения 
[image: image4.wmf]3
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 при а = – 2,1

а) 2,97

б) – 2,97
в) – 0,03
5. Вычислите: – 2,5 ( (– 1,6) + 41,6 : (– 4)

а) 6,4

б) 0,64

в) – 0,64


	М – 6






В – 3

Деление

1. Выполните деление: – 14 : (– 0,7)

а) 98

б) – 0,2

в) 20
2. Выполните деление: 
[image: image5.wmf]÷

ø

ö

ç

è

æ

-

7

1

9

:

21

1

3


а) – 3

б) 
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в) 
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3. Решите уравнение: х ( (– 2,65) = – 7,685

а) 0,29

б) 2,9

в) – 2,9

4. Найдите значение выражения 
[image: image8.wmf]9
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 при у = – 2,7

а) 0,41

б) – 1

в) – 1,21
5. Вычислите: 0,5 ( (– 0,24) + 7,14 : (– 7)

а) 0,9

б) – 1,08

в) – 0,9


	М – 6






В – 2

Деление

1. Выполните деление: 3,6 : (– 0,9)

а) – 0,4

б) – 4 

в) – 40
2. Выполните деление: 
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б) 
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3. Решите уравнение: 14 ( х = – 19,318

а) – 13,87
б) – 0,1387
в) – 1,387
4. Найдите значение выражения 
[image: image13.wmf]10
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 при х = – 1,7

а) – 0,649

б) – 0,071
в) 2,53
5. Вычислите: 3,8 ( (– 1,5) + (– 35,2 : (– 5) 
а) – 12,74

б) 1,7

в) 1,34

	М – 6






В – 4

Деление

1. Выполните деление: – 5,6 : (– 0,08)

а) 70

б) 7

в) – 0,7
2. Выполните деление: 
[image: image14.wmf]25
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а) 
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б) 
[image: image16.wmf]125
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в) – 5
3. Решите уравнение: 3,9 ( х = – 1,365

а) – 0,035
б) 3,5

в) – 0,35
4. Найдите значение выражения 
[image: image17.wmf]5
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с

 при с = – 2,5

а) 2,21

б) 2,41

в) – 0,09
5. Вычислите: – 1,4 ( (– 0,55) + (– 31,6) : (– 6)

а) 10,97

б) – 9,43

в) – 10,97
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